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MAT 209 Mesleki Yabaner Dil 1 Biitiinleme Sinavi Sorulars 20.01.201%

Asagidakilerin Tiirkee okunuglarim Yaziniz,

1) Every polynomial is differentiable at every point,
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Hem paltnon. hir wakted. Foriviestin
2) I we multiply a positive number with a negative number we get a negative number.
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3) Multiplication is both left and right distributive over substraction, | | ‘[
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4) Let A and B be two sets. A is called a superset of B if every element of B is contained in A.
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3} The intersection of the sets A and B contains the elements of A and B.
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7) Find the x and the y intereepiof the line defined by the linear equation 3x+42y-5=()
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8) It L is a linear transformation its dervivative is equal to L.
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9) Write the equation of the line passes through the points P(2,3) and O { 1,21,
F{_‘-Lll\) wl 8 |L .‘1 1] -"“:'\L'I'_ 'r-"-l"w..""'k ""Elh'-k ‘E.j-@_fl o '-.'\‘.'_J'—'l.rjn— — ey f.].q_ k
| PSR Aston k, : 3
10) Let t be a function and [ be its domain. fii called a decreasing function if fix, )= f(x,)
for all x;.%, D, whenever x, > x,.
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binary operations, uncountable, an element of, proof, greater than

1) The CE"'H: of the theorem is obvious.
12) x is called qw.i_e__.le_mm_l-g I..A i =

e



13) The set of real numbersis wan (0 ,«\‘EF-\L[L
14) Positive integers are

nfﬂcm@'«ﬂ_ﬂ negative integers.
15) Substraction. multiplicadon, addition are !,2“1,3 cru} operations.

NOT: ilk 10 soru 8 puan, digerleri 4 puandir.
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